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Specific Instructions : (i) There are total eight questions in two Sections,
both Hindi and English.
(ii) Answer five questions, selecting

each Section.
(iii) Marks are given against each of the question.

(iv) All questions carry equal marks.
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ﬁuﬂ?ﬁz §o:t:mne of Karma 2. enunciated in the Hindu scriptures. How it is E’ 8] -
related to the doctrine p[reblrth 2. ‘.

ﬁﬂﬁﬂmﬁﬁﬁﬂﬁﬁﬂﬂﬁﬁwﬁml ””.-;' - ,JPSV 15
= Discuss the impact of social le egislations @ on Hindu marriage. 7 '* e
g 2 e 3 3 et 108

e Rl 1
’(Jc\i«, E:ni:fsm allows for 1 individual mobility pm\ddeion&renuunces the caste, Comment. }-
) (a) wmmﬁ%mgﬁmﬁ@%?mmmwamm '

) sportferer T € 7 : (7+8)¢
Did the benefits of Green Revolution trickle down to agricultural |
did it affect their relations with land owners ? ; RESnd How
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-_‘:'.'v:’hat do you understand by kinship system ? Discuss the various kinship-customs
prevalent among Indian tribes.

(c) e it s qut e @ ua wue @1 feogoh #£ifi)

10
- » 'Family is also a site of exploitation am[wulupr:e.'- Comment.
y = v i
L@n) e 3 Neafores st # avfl of) arcrfirs s 21 faae #afsm) 15
'/ ‘Educational opportunities in India are still highly un’e_qualf Discuss.
Ab) FENTSA & ¥ ufiRl W Ierlerr qun seek Aol gm g & wrEi £ e
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Discuss the impact of liberalization and its consequent labour reforms on labourers
of unorganized sector.
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Discuss the social bases of Indian politics.

4. (a) <TG g=TEa =R 7 anhiv gar i e arenet F amae 4 35% vew £ fas=
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What is caste panchayat ? Discuss its significance in solving various problems of
rural society.

by 1990 @ st T <61 ey AR wrare 3 e T Y S i
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15
‘Since 1990 there has been a shiftin the Indiap state’s developmental ideology from

socialism to liberalizing state. Comment,

(c) “ferdl A ST < 3 st ¥ S s v whom 2, < v o
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‘Emerging consciousness among Dal

: _ ! : alits is result of rising economic aspirations
driven by the twin forces of globalization and cultural modernization! Discuss
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Development projects have led to large scale displacement of tribal population and

have adversely affected their cultural h eritage and community life. Discuss.
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Discuss the emerging patterns of rural leadership in Indja, °
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The deterioration of many of India's urban centres lies in Migratior

thT T t
unplanned urban growth’ Comment, ==L {igration rather than in
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What is:rg_l;a;l_ihqdebtej:dhess ? Discuss its Major causes. /
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What are the major problems of tribes In India ? Discuss the efforts of Indian
government for the welfare of tribes= e

(5+10)

- [545)
How traditional village pan'ch_ayats_a_tief different from statutory village panchayats?>—
Discuss the role of village Panchayats in rural India at present ?
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c-//GFitically evaluate the success of the Sexual Harassment atﬂ@,t@lace_4c5;2b713,,.
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Sanskritization is a principle of caste mobility. Explain.>

in‘protecting women from sexual harassment at workplace,
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What are the en’dogeanis and exogenous sources of social change ? Discuss the
role of mass media, as an exogenous source in the present times,
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Religious pluralism has its roots inside the Hindu traditions. Comment,

HEHTaeR ST Mo 1 T e @ | = fif) 15
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‘Earlier Peasant movements were spontaneous and they did not haye any organized
structure.” Examine! —
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‘Secularism has become a political issue. Comment, .
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